Acceleration Trends


What does an acceleration of +10 m/s2 mean?  Use a complete sentence to explain:
Apply your understanding to complete the following data tables, both demonstrating what an acceleration of +10 m/s2 means:

	Time (s)
	0
	1
	2
	3
	4
	5
	6

	Velocity (m/s)
	+30
	+40
	+50
	+60
	
	
	


	Time (s)
	0
	1
	2
	3
	4
	5
	6

	Velocity (m/s)
	-40
	
	
	
	
	
	


What does an acceleration of -10 m/s2 mean?  Use a complete sentence to explain:
Apply your understanding to complete the following data tables, both demonstrating what an acceleration of -10 m/s2 means:

	Time (s)
	0
	1
	2
	3
	4
	5
	6

	Velocity (m/s)
	+30
	
	
	
	
	
	


	Time (s)
	0
	1
	2
	3
	4
	5
	6

	Velocity (m/s)
	-20
	
	
	
	
	
	


For each of the data sets shown, find what acceleration is represented, AND complete the table based on the trends:

	Time (s)
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Velocity (m/s)
	-13
	-11
	-9
	
	
	
	
	
	
	
	


	Time (s)
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Velocity (m/s)
	+8
	+10
	+12
	
	
	
	
	
	
	
	


